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s Hemew R rsnn i e
HIGHER SECONDARY - SECOND YEAR
PART - Il
ssmfilafl g alwd / COMPUTER SCIENCE
(sfip wppute gymdlew ey / Tamil and English Version)

(New Syllabus)

[mre eyenay 2 30 wenfl Bpii]

[Time Allowed: 2.30 Hours] [Maximum Marks: 70]

1Hed . a . . -~ . . ) ] P %
sfaemrsen: (1) gmeangg aldtdsenn sflwrsa uRourd p_enenTH CTHTLIHMETS
sfllurisais Carstena)r. SEFstiudalsd HsmD ullptdlesr,  HsODS

smesaTeLuTen b o__syyuradh 05faldhaayin.

(2) fdevw gk BHUY  enwuilener Wi BB eTIpBHINBHD G,
913 HBHT1y HaupH G LwSTLBHH Carsnriih. UL MIH6T auenTausn &
Quen Ale LwssTLB HHaLD.
Instructions: (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.
u@g -1/ PART -1
@iy (i)  syewen g allanrshsend@hn aloeweflhsne)ib. 16x1=15
(i) Qar@®datiu(sren  wTHH aflsmasefley  1flsad  gmLe»L W
alenLeowd Baihes®hs5d GO BLsr aloLulmearyn GCaigsgl
§T(LOH 1D,
Note: (i)  All questions are compulsory.
(i) Choose the most appropriate answer from the given four alternatives

and write the option code and the corresponding answer.

1. ST HHT B 60 1PH %1506 % T6iTEHLD @5wg’35&..gf&umurmg)@g;sb

(.5) Pure @swimaam) (=) Impure QauwiHam mi

(@) argrrent QFwmaenm () B65Ten e smT Qe eDdGLD ClFwiH o M)
A function definition which call itself:

(A) Pure function (B) Impure function

(C) Normal function (D) Recursive function
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ADT sterruger aildleuranit:

(.s) Abstract Data Tuple (.s) All Data Template Tsv
(Q) Abstract Data Type (=) All Data Type

Expansion of ADT:
(A) Abstract Data Tuple (B) All Data Template ;
(C) Abstract Data Type (D) All Data Type "

s = ~ : . . . 2 o M : - 1
BDDT®H DIFWD DI SunTWENNENW HTgniet Earere. 9 K et DruDIm B spiem
el s wr

(o) o _eremenis (o) npagHemalus (@) -pysmdniic (=) o sl sDEeNT B

A variable which is declared inside a function which contains another function
definition:

(A) Local (B) Global (C) Enclosed (D) Built-in 2

i\ euflenswirsnggen 1055 Anhs Hevsoulsy gymsit 1 FHR0HSTEND

(.9 B (n) (-m4) 8 (n log n) (@) 8 (n2) (#) 8 (n(log n) 2)
Time complexity of bubble sort in best case is
(A) 8 (n) (B) 8 (n log n) (C) 8 (n2) (D) 8 (n(log n) 2)

ahp GQrwnhen) TG Qawmhef steimib eppaHaliu®AnH 7

(o) sramraently () e-poyploosv (@) 3 Hshs (%) wFOmsb s
Which operator is also called as Comparative operator?
(A) Arithmetic (B) Relational (C) Logical (D) Assignment

Seraumid enubhsrer Brelar Qeushiuf® sresrss?
foriin range(1,10,2):
print(i, end="")
()13579 (=) 12468 (®)246810 (*)135710
What will be the output of the following python code?
for i in range(1,10,2):
print(i, end="")

(A)13579 (B)12468 (C)246810 (D)1357 10
§1hp QFwhan m HTTUGHEH CFWDHIm D) THTY YPYEaILGAmg?

(1) surioLm (1) BeTemarssrCer

(@) @5wmhanmi (%) susprws»m

Which function is called anonymous function?

(A) Lambda (B) Recursion (C) Function (D) define
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(edraumaisraunmiet e1ghi HlewiLa @i Qg uwrm @) (slicing operator)?

(=) {}

(o) [ ]

(@)()

Which of the following is the slicing operator?

(A){}

(B)[]

(C)<>

(=) ()

(D) ()

List=[17,23,41,10] siflsv, List.append(32)sir Qauafluf® s1eirenr?

(o) [32,17,23,41,10]
(@) [10,17,23,32,41]
If List=[17,23,41,10] then List.append(32) will result
(A) [32,17,23,41,10]
(C) [10,17,23,32,41]

(1) [17.23,41,10,32]
() [41,32,23,17,10]

(B) [17,23,41,10,32]
(D) [41,32,23,17,10]

Nesreumid s1h s suflpeom fltiflwirs LweTuGGSULGFDSHI?

(o) _init__()

(@) _dest_()

(@) _rem_{()

Which of the following method is used as destructor?

(A) _init__()

(B) _dest_()

(C)__rem__()

() _del_()

(D) __del_()

576y L Leusnanruils, 9m OpHauflans @eaurn ysasliuGSpg!:

(o) uswrydGamm ) 2_meyssir
A column in database table is known as an:

(A) Attribute

(B) Relation

QurmhsT peTewmS CsiholSM0H):

(=) Commit
Pick odd one:
(A) Commit

(<) Roll back

(B) Roll back

() ugley

(C) Tuple

(@) Save point

(C) Save point

(%) sorey

(D) Data

(=) Revoke

(D) Revoke

Usitaumeusmeupmier 6151 Sroysemer, gdhagariulle) @ementd@io  Gurmaner

2_(HEUT& LD
(<o) listreader( )

(<24,) reader( )

(@) tuplereader( )

(=) DicReader( )

Which of the following creates an object which maps data to a dictionary?

(A) listreader( )

(B) reader( )

(C) tuplereader( )

(D) DicReader( )

dlsireupeuateupmier etihg Apiiy wry), srerepwaurs @ Garidsr Quuisny

Gauld @ n?
(=) _name__

(wp) __init__
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Which of the following is the special variable which by default stores the name Of
the file?

(A) _name__ (B) __init__ (C) _del__ (D) __def_

DUSHTIND, G Ha Blrev suflsensr QaremGL aflardsts LLfkisspar 2 (HauTHhsL
LWsSTUED Uiyusswrer srey srAu@sgib LwsTUTE:

(<) Matplotlib (g Intaraphivs
(@) Data visualization () pip

The most popular data visualization library which allows creating charts in few lines
of code in Python.

(A) Matplotiib (B) Infographics ~ (C) Data visualization (D) pip

uggl — 11/ PART - I

gGamue  Hm  alerésende ool welss. alorr  saw  245@ SLLTWWLTS
allen_wefldsa . 6x2=12

Answer any six questions. Question No. 24 is compulsory.

16.

17

18.

19.

20.

21.

22.

23.

SIEMENT Bl T6D 6TEHTMTEV sTEHT 6 ?

What is Subroutine?

UGS TE60 FDLIyF QFThasT sTTLIST WTensu?
What are keywords in Python?

M LIS SHTEOTI6D LIWeT i UM TWMD&H G CFUWNHInDISEHOT 0_(HUTHHUSZDHTEHT HL_L_snsn
I|EDIOLIEDLI 6T(LPG)5.

Write the syntax of creating User Defined Function in Python.

SQLite sresrmmsv srsivenr?
What is SQLite?

swugsTafley Dictionary o meurdGeugnarar s 1snen DDILLISDLI STULHIS.
Write the syntax of creating dictionary in Python.

MUSSHTETI6 (3)63Td & (Lp sTHTMTEV 6T6dT6NT 7
What is class in Python?

s1C8ssm1d preir@g DDL & L_ensnasensm Ll 1gwsdll®s.
List any four DDL commands.

(o) SWIG () MinGW - allflsurssgans s11p55.
Write the expansion of (a) SWIG (b) MinGW
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24, Geraumio soupp et Hreler QausfluT® sreirer?
Str1 = "Madural”
print(Str1*3)
What will be the output of the following Python code?
Str1 = "Madurai”
print(Str1*3)

L - Il / PART — Il

dBaaie oy alerrdasendd  alvLwellds.  allarm 616 3353 slirwors

6x3=18

alleni_wefldnab,
Answer any six questions. Question No. 33 is compulsory.
25. gewsd sl Guur® asnE Camaliu®Ams?
Why access control is required?
26.  evupsreler wiw QswpEPleow aBSSIEETHL6T alsurl.
Explain ternary operator in Python with an example.
27.  ewugpre for wsss range( ) Qewmhen Plsir umiseafliiy ereires?
What is the role of range( ) in for loop of Python?
28. Qsr@asiul (Rsrerensud e Fmu@GPliy e s.
(<) capitalize( ) (=) swapcase( )
Write a short note about the following.
(a) capitalize( ) (b) swapcase( )
29.  greyd sTLAuBSS06T TEHMID (LPSITM LILIGTHET 6T(LPSIS.
Write any three uses of data visualization
30. Q@eTéEEGW 2-mILLSET TSTURT WTene? aunenm sTeueuTn| auenFwmiiumis?
What are class members? How do you define it?
31.  SQLeir Delete, Truncate wmmpd Drop s Lswersenst B,
Compare Delete, Truncate and Drop in SQL.
32. enuggrefler open( ) Qewmnem uny GOILLY TWsHIs.
Write a note on open( ) function of Python
33.  dlsireumid sevugSsreT Blralbamret @)widbs L L 6T 6T(0SIE.
Marks=[10, 20, 30, 40, 50]

i=0

sum =0

while i < 4:
sum+=Marksi]

i+=1
Write execution table for the following Python code.
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1
| v
Marks=[10, 20, 30, 40, 50]

i=0

sum =0

while i < 4:

sum+=Marks]i]
i+=1

ugd - IV / PART - IV
Siewarig alarTds@ydhd alenweflssea) i, 5% 5=95
Answer all the questions.

34. LEGB allglamer @mha §T(HHSIHETL BT allend: @s%.
(op0s0g1)
auflensperm Cai_ed Lipp) allend: @s.
Explain LEGB rule with example
(OR)
Discuss about Linear Search Algorithm

35.  ewugsrefler LsGaum BFwm@Mlssnar L aflsrds @s.

(svevg)
oussTefleT HTausd s hmisenar (Jump statements) aflfleurs aflerd @ s.
Explain the different operators in Python

(OR)
Explain briefly about Jump statements in Python
36.  eussraflsy 2 srer set Qrwpur@smer 5@Hs T OS5 H&TL (5% gL allers: @ s.
(Srsvev5)
Lilssraumid snuggrer Blrsdlsr Qeusfluf®) srsiresr?
class Sample:
num=0
def __init__(self, var):
Sample.num+=1
self.var=var
print("The object value is =", var)
print("The count of object created =", Sample.num)
S1=Sample(15)
S2=Sample(35)
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37.

38.

S3=Sample(45)
Explain the set operations supported by Python with suitable example
(OR)
Find the output of the following Python code
class Sample:
num=0
def __init__(self, var):
Sample.num+=1
self. var=var
print("The object value is =", var)
print("The count of object created =", Sample.num)
S1=Sample(15)
S2=Sample(35)
S3=Sample(45)

STaSHMSHH6D LWTUBLD 2 Ma| BleweV STl auenH BT Qll6l & 55
(Spevevs1)
sroysser TCL s Lsnersemst $@has 6T0S5166TL_BL6T ailars @s.
Explain the types of relationships used in a database.
(OR)
Explain about the TCL commands with suitable examples

fetchmany( ) vweru@®s5gh) steumd L susvsnrullaysirsm

uglaysemeruo Fenyulle) ST HIb LISSTT BTensv 6T(1HF5.

Reg No Name Marks
3001 Chithirai 353
3002 Vaigasi 411
3003 Aani 374
3004 Aadi 289
3005 Aavani 507
3006 Purattasi 521
(fevsv )
214
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C3 SRTRAR0UL Bsen Ul SUSHTUL HSDE SUDTaUBD AT en i1 64
PN 6T 1) HI .

Write a Python code to display all the records of the following tath
fetchmany( ).

Reg No ' Name Marks
3001 | Chithirai 353
3002 | Vaigasi A
3003 Aani {304
3004 Aadi e
005 |Aaven 507
3006 |Puattasi 21
(OR)

Write a Python Script to display the following Pie chart
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wr A el gmrer — 2 / Model Question Paper - 2
Guoevmlene @ edri_nib 946010

HIGHER SECONDARY - SECOND YEAR
PART - llI
senflof oflaflus / COMPUTER SCIENCE
(s wpmio oy el / Tamil and English Version)
(New Syllabus)

[ 160 Soney. 2.30 tnenf @mirin]
[Time Allowed: 2.30 Hours] [Maximum Marks: 70]

ipleyenraer: (1) Svargs allerrasenn sflura’s uglard o_6ITeNmrg 5'{657“,5‘“6'”@
Fflumi g g6 Glamararayib. @;é'&ﬁ.’luﬁﬁlﬂ@ @m,muﬂ(@':"-ﬂm' MM
senrsrTenfliurertliib e_L_argursd Qg fallssa)ib.
(2) Hevid 9V  B(HLILY sowuflemer  WLBG  TESINSDGLD,
N4 5CsTy Qaugpein LuSTLESS CagmBID. LLBISST amTaIsHE
ClusiTdleb LweTLE G B e b,

Instructions: (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

ugg -1/ PART -1
@mliy: (i) omargg allarrssendsgh allenwefldssea . 15%x1=15

(i)  Gesr@ésiaul@ster  wrpm ol sally  saybd  gHysoLw
allmLemws Caipolsbsss GO HLear el ulmearyn Gsigg
TS LD.

Note: (i)  All questions are compulsory.

(i) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

1 20 QFwnsenm susnrwpiiiled o_srer TP Glusury ywYESOILEEDS.
() sismemr Blrsvassir (Subroutines) (24) @FwmhHanmy; (Function)

(®)) susmywenm (Definition) () QewgimLdsst (Parameters)
The variables in a function definition are called as ,
(A) Subroutines (B) Function
(C) Definition (D) Parameters
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. (BaUMLOLILY am"uu'.mur,s By s @lsusury) HemyssiuBS DS
(o) e-srallsventh s srallend (Built in datatype)

(o) soaldstiuc. grafsm (Derived datatype)

(@) Fevsomrer grafarni (Concrete datatype)

(%) 1w srallemid (Abstract datatype)

The d':?ta‘ type whose representation is unknown is called.
(A) Built in datatype (B) Derived datatype
(C) Concrete datatype (D) Abstract datatype

JsiauGeustaudnist s1g1 Mreords Qumifluflsd  wriflsEns s, QuIT(®6TSEHS G0
Qsvsmiisnu (Map) sshu@ési LwsTUB SN
(LQI) Y (‘-?i:) L] (@) = (FT- ——

Which of the following is used in programming languages to map the variable
and object?

(<9'l) - (%) = (@) = (D) ==
QarhHsastiul L g Heseva FiughaTear Lig g wrer GF WP DS ET
(@) Brst (Program) (o) Guredd@fysnp (Pseudo Code)
(®) wmieyts uto (Flow chart) (@) Qzwsvepe»m (Algorithm)
Step by step procedure for solving a given problem:
(A) Program (B) Pseudo Code
(C) Flowchart . (D) Algorithm
Sssraumid @olpsopullsd, Xeir wgliiy sresen?
A B=10,3
X = Aif (A/B==3) else B
print(X)
(o) 3 (<) 10 (@) True () False
What will be the value of X from the following code snippet?
A,B=10,3
X = Aif (A/B==3) else B
print(X)
(A) 3 (B) 10. -, (C) True (D) False

QsrHssLILLLmausefle sTgl $550 (JUMP) s pmi DVe?
() for (<24) goto (@) continue () break

Which is not a jump statement?
(A) for (B) goto (C) continue (D) break
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deraumio Apiiy @pPuf@malled stgi wrpub Hen o wIgYI(HL|HHEDET AIEHTUIM) b,y
uweTu®@AImE?

(o) & («o4) @ * () #

Which of the following special character is used to define variable length
arguments?

(A) & (B)$ )" (D) #

cpesimmib oentym (Stride) sredriig) srevren?

(<9) gpredr_n b QawiHrime g6 s’ Qi_svnt gl

(21) Grev_n@Gib QawHumr g6 asd HjerL|meIn @b

(@) siedrnmGib QauihHumrt’ igeir @) redri_mib HIemL|HEIT @10
() giedrm@Eib QawimHumri_igesr apeSTHTLD HIENTL(MHEUTEHID
What is stride?

(A) index value of slice operation

(B) first argument of slice operation

(C) second argument of slice operation

(D) third argument of slice operation

setA={3,6,9), setB={1,3,9} srasfls, print(setAlsetB) srairp @plapsmmullesr Cleuafluf®

6TGSTGOT 7

(=) {3.6,9,1,3.9} (=) {3.9} (@ {1} () {1,3,6,9}

Let setA=(3,6,9}, setB={1,3,9}. What will be the result of the following snippet?
print(setA|setB)

(A) {3,6,9,1,3,9}  (B){3,9} (C) {1} (D) {1,3,6,9)

LNesreumousreupmisi s1g1 private @and@ag wrml?

() __num (<) #ENUM (@) $$num (/) &&num

Which of the following is the private class variable?

(A) _num (B) ##num (C) $$num (D) &&num

DNersumio e1ps GOIuF® SELECT gappled uwstu®ang:?

(o) 0 (=) M (@) X (7) Q

What symbol is used for SELECT statement?

(A) 0 (B) N (C) X (D) Q

QurphsT et CsiHs6

() INSERT (=) DELETE (@) UPDATE (=) TRANCATE

Pick odd one:

(A) INSERT (B) DELETE (D) UPDATE (D) TRANCATE
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13.  e1&06wev Gamiiiler 514

() exl (<) Xls (@) cel () Ecl
The file extension of Excel:
(A) exl (B) xIs (C) cel (D) Ecl
14.  ehg auflypsmm s YL Lsuenswuilgpisirenr sraysemer SQL & 1_enaruflsr epevrd G@um
vwesTu®Smg)?
(<) get () select (@) execute () Query
Which method uses the SQL command to get all the data from the table?
(A) get (B) select (C) execute (D) Query
15. Matplotlibéd eur1eflerdariuiv (pie chart) susnreugpasrar ClFwman mi:
() pit.bar( ) (24) pie.plt( ) (@) bar.plt( ) () plt.pie( )
The function to make a pie chart with Matplotlib:
(A) plt.bar( ) (B) pie.plt( ) (C) bar.plt( ) (D) plt.pie( )
ug# - 11/ PART - Ii
ICGseb  Hm elarésensE oo welés.  allerr  sreT 2453 SLLTUIWNTS
aflen L wefldsay . 6x2=12

Answer any six questions. Question No. 24 is compulsory.
16. &4 whmnd QFesL Taer CoumiLBssis-

Differentiate constructors and selectors.

17. s @Uurl® 9emwiiy euerum)

Define control structure.

18.  svmbL T GFWmen Ml6sT LiwiesT 6T6dTEDT?

What is the use of lambda function?

19.  euggrer 2 mliy QFwnHGpssT wreneu?

What are membership operators in Python?

20.  Matplotlib ersitpmeb ersirenr?

What is Matplotlib?

A, guflinfluflesr uwer sTee?

What is the purpose of Destructor?
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22, sreypmen ER wrgufllsd Froydser Henwliysmer GPIUUED @1 UM A

What are the shapes to represent database structures in ER model?

i
1

23.  eugsrever vwetu®sF, CSV Gardenu uUgsHGLD @reit® ol PEPM S en g, }
SO Gs. '.

Mention the two ways to read a CSV file using Python.

24, dsreumio gplypeemullsir Qeualluf (B sresren?
What will be the output of the following snippet?
Mydict={chr(x):x for x in range(97,102)}

print(Mydict)
ugg - Il / PART = Il
TCrgud alorrésense ofloiwelds. alorr  aew  336@ SLLTWLTs
aflew L wefl&s L. 6x3=18

Answer any six questions. Question No. 33 is compulsory.
25. 9@ OpPyspullst Asaspur’ e Serafl@i srrenflaamst upd GUILY TWSIS.

Write a short note on the factors of measuring complexity of an algorithm.

26.  eugzralld 3PUQUWIsmeT o_moaurdGaushsTar alfwsopsst wreneu?
What are the rules to be followed while creating an identifier in Python?

27.  svugzprer While wLsens alleréeh umibayliuL b GeTenD suedrs.

Draw a flow chart to explain while loop.

28. ceil( ) wpmuw floor( ) QewnHam pissnar Caupiu® &5
Differentiate ceil( ) and floor( ) function?

29. range( ) Qrwmhsm plsit L LeosTwedwLUMU T aflerdEs.
Write and explain the syntax of range( ).

30. write wpmib append yempenwaaflen,Gu o_sirer Gougur® srsires?

What is the difference between the write mode and append mode?

31.  Select wpmuib Project & L_snenssfler Gaumiur® sreiresr?

What is the difference between Select and Project command?
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32.  aGagnid apsiry) iy sueny Wi Qong® (ODL) w1 smanaeman vuh ,4‘.10“._

STUDSHIS.

Write short note on any three DDL commands.

33. @uem@® private wrplaemt e, @rwphan et LB HA . OEH@ B0 e HeU
SFABD GlordHap Heirsvm s1epsis.

Write a class with two private class variables and print the sum using a method.

g = IV / PART - IV
DT gl allarrdasend @ allot wallbaa)ib, Submad
Answer all the questions.
34, 1. gjeryhdasit stsdrsr wirenen?
2. Py auenra - (9)) Bray auennufsosw o)

(J,:j,) SHISY USHHBUIL_ I o 1§ U1 \-man:;\u,.-i.;a.uil
1. What are called Parameters

2. Write a note on - (i) Parameter without Type
(i) Parameter with Type

(wysvevgl / OR)
SIS Y HULTESSNS sTeusurn QFwLBBSITLT sTHHSISSTL BHIL65T aflend s

How will you facilitate data abstraction? Explain it with suitable example

35.  eurLr QEwmHIn Hevm sTOHHISSTL HL_6T allard @ae.
Explain about Lambda function with suitable example.
(s / OR)
sougsreflar sr Qep@plssmer $&Gbs THSHISSTL QLT afllard @s.

Explain about string operators in python with suitable example.

36. st svuggrer Blredssr CQouafluf® srssren?

What will be the output of the following Python program?
A={x*3 for x in range (1,6)}
B={y**2 for y in range (1,10,2)}
print(A)
print(B)
print(A|B)
print(A-B)
print(A&B)
print(A*B)
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(oyssvz: / OR)

dsran Bib epugsrer Bredlsr Qaiafluf® srerer?

Nhat will be the output of the following Python code

class String:
def __init__(self):
self.uppercase=0
self.lowercase=0
self.vowels=0
self.consonants=0
self.spaces=0
self.string=""
def getstr(self):
self.string= "Welcome to Puducherry"
def count_upper(self):
for ch in self string:
if (ch.isupper()):
self.uppercase+=1
def count_lower(self):
for ch in self.string:
if (ch.islower()):
self.lowercase+=1
def count_vowels(self):
for ch in self.string:
if (chin ('A','a', e, 'E", ', 'I','0", 'O’, 'u', 'U)):
self.vowels+=1
def count_consonants(self):
for ch in self.string:
if (ch notin (A", 'a', 'e', 'E", 'i', 'I', '0', 'O", 'u', 'U'," "):
self.consonants+=1
def count_space(self):
for ch in self.string:
if (ch==""):
self.spaces+=1
def execute(self):
self.count_upper()
self.count_lower()
self.count_vowels()
self.count_consonants()
self.count_space()
def display(self):
print("The given string contains...")
print("%d Uppercase letters"%self.uppercase)
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pr?nl("%d Lowercase Ietlcrs"%self.lowercase)
print("%d Vowels““uself.vowels)
print("%d Consonants"‘VoseI[.consonanls)

print("%d Spaces"“/nsolf.spaces)
S = String()

S.getstr()
S.execute()

S.display()

p_l[}(fl”!;].tmbv Quipamewily, G up@Slaelly  Lipsremd  Qoupeplsme  5&bS
STMHHIHBTL_ (D631 mﬂmr&,@)m.

(1) Union (u)
(2) Intersection (n)

Explain the following operators in Relational algebra with suitable examples.

(1) Union (v)
(2) Intersection (n)

(9jsvevg / OR)

Oar@&ssiu’Hstemr employee I Lauswenrsnw LwsTu®SH, aflerr (1) wsed (5)
auenr ClarBSsuulLenasensE SQL s Leer eripsis.

EMP ALLO
CODE NAME DESIG PAY WANCE
S1001 Hariharan | Supervisor 29000 | 12000
P1002 Shaji Operator 10000 | 5500
P1003 Prasad Operator 12000 | 6500
C1004 Manjima Clerk 8000 4500
M1005 Ratheesh | Mechanic 20000 | 7000

(1) suerggler  (Pay) @mom@geiflensulle, omenss SHAUCE N6 UL LD
&TL(HausnE.

(2) ugser  (Allowance) 5000 qpged 7000 ey Qumib  HedeaTss
S|IUEVT ST BB ST (HaIsm E.

(3) ugafl (Desig) mechanic srer 2_sirer eSS JIuVTHafleT HHeussener
585.
(4) @ yHw euflews sremeu o_erafl.

5) ugall operators erewr o sTer  YWTSH Y IUNTEHETGT  GHOuLHENET
&5 P 5
ST HUSD G-
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the gl
SQL commands for

I

Consider the following employee table. Write 1
to (5). ,:

f ] ol 'Mﬂl' ALLO

it NAME ' DESIG PAY WANCE

(CODE | togni0 | 12000

| S1001 | Hariharan ] Supervisor j 29000_5666_______

| P1002 | Shaji | Operator | 10000 6566______

 P1003 | Prasad | Operator l ;gggo 5 _4_566____.._

| C1004 | Manjima | Clerk _ /8000 :{FQOAO_

M1005 | Ratheesh | Mechanic 120000

es in descending order of pay.

(1) To display the details of all employe en 5000 and 7000.

(2) To display all employees whose allowance is betwe
(3) To remove the employees who are mechanic.
(4) To add a new row.

(5) To display the details of all employees who are operators.
st @esd tohpith CSV Baaiyasit Saupiui®dHd1s.
Differentiate Excel file and CSV file.
(‘_‘}fai‘ol“u_bl / OR)
getopt() Qewpanppiledr &L Lener Seolisvu sTS, DS B OTL (HEBSEDEMU LD
Smeu Ao wHiysenarujid aflard s :

Write the syntax for getopt() and explain its arguments and return values

LA
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wrgf allerrssTs — 3 / Model Question Paper - 3
Cusvgm @ rawL T Havp
HIGHER SECONDARY - SECOND YEAR
PART - 1ll
senilafl saflws) / COMPUTER SCIENCE
(515 i o5 e ey / Tamil and English Version)
(New Syllabus)

[sre0 oyerey: 2.30 wenf Gpyur)

[Time Allowed: 2.30 Hours] [Maximum Marks: 70]

spsysorsst: (1) gemang 3z alaTTEsepl FTWTHU UFUTH o _aTaTTH 6TEITLIHEN T
sUTTS515 Qatstarayn. gFstuFald GeopulgldsT, JODH
HSMHTeN OUTaT AL o L sywrad OFTalssayn.

(2) Fooi SVVFH  HHUY  sowulser Wl 8w  sTuSHIUBHESLD,

935851y RHuzHEL vwSTURSS Caus®HIb. LIL_RIGST QUeNTaUSHM
QusiTdlsy uwsTUR HH80L0.

Instructions: (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

ug# - |/ PART - |

Soluy: (i) ovarsz aleTahmEnsGn allsn_waissa)L. 15x1=15
(i) @srEssuul@sarer  wrHy aloLseilsy  Wasayd  aHLe»L W
aflwLoowg C31h0305515 P HLar alwLulmeary Gsigg
STUBNYLD.
Note: (i)  All questions are compulsory.

(i) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

1. 9Gr wrflwrer 485 SeTymssMar Qrwhampalhe euiferred sfluimrer
allswLevwd &Ho QFWDHI DI sToUTH HDYPSHSILBS DS ?

(=) Impure Gswmammy () Partial Qzwmhanm)

(@) Dynamic Gzwmha mi (%) Pure Qewpamm

The function which will give exact result then same arguments are passed are
called:

(A) Impure function (B) Partial function

(C) Dynamic function (D) Pure function
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aTeme Hrevd Camiiyser Blredlsy QFwesouL @gjrﬂ—lﬁwﬂwﬂﬂ”m Bt
(o) 2_sefllewenips auenrGusiensy Q& wiman missT

(1) GyeoLdsliul L ausnrGueensy Glawmam nisHsT

(@) pusermallwu anrEwsensy G&wmHan mIHET

(7) o_sitemenio auenrGlwsVensy G& WwmHen mIsHsT

: ?
Which are loaded as soon as the library files are imported to the program

(A) Built-in scope variables (D) Enclosed scopeé variables
(C) Global scope variables (E) Local scope variables
Ulestsumid s181 @mpilpsmmulles LIENTL| &8 M) CQ{SUGU?
ENER B0 (c24) Blrev (@) sromaupps () sTeflewLo
Which of the following is not a characteristic of an algorithm? -
(A) Input (B) Program (C) Finiteness (D) Simplicity
DUSSTETIE (1 BITemsv 6755606 @mgmwmsrﬂsb s‘r@,d_ﬁsvﬂ'l-h?
() @reav® (=) cpsiTmy (@) pre (/) 255!
In how many ways programs can be written in Python?
(A) Two (B) Three (C) Four (D) Five
Weiraupid snuggrear plreflsr Glauaflui® sTeBTGUT ?
a=15
while (a<=20):

print(@a%a, end="")

i=it+1
(o) 15 16 17 18 19 20 (<) 20 19 18 17 16 15
(000000 111111

What will be the output of the following Python snippet?

a=15
while (a<=20):
print(a%a, end="")
i=i+1 ,
(A)15 16 17 18 19 20 (B)20 19 18 17 16 15
(C)o0 0 0 00 o111 1 1 1 1
LSS TN P OFWHIn DD AUHTWDISS LwssTU@ D Ay QFTsD 6157
(=) def (<) local (@) rec (/) global
Which keyword to be used to define a function in Python?
(A) def (B) local (C) rec (D) global
DUSSTAST 6ThS HI_Lsner 6 &7 TPl PLMLWTS BéHEL uweTu®#Ema?
() rem (4) remove (@) del (=) delete
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10.

11.

12.

13.

14.

|
H  PDFelement
Which command can be used to remove entire string variable in Python?

(A) rem (B) remove (C) del (D) delete
oupsTalean sThs s Lsnar pyy Listsdr Fongeng S By Sa0 LwsTuGSEmE?
(o) for( ) (®) range( ) (@) len() (=) length( )
Which function is used to find length of a list in Python?

(A) for( ) (B) range( ) (C)len() (D) length( )

DUSSHTONL Fo0d 310 AP YPIDUTST YPHs0 DTLH SDGLILTS 6ThH HOTL(HEOUTSE
QrEs SausPn?

(=) self (e4) rec (®) global (w) key

In Python the class method must have which named argument as first argument?
(A) self (B) rec (C) global (D) key

ST B AL susmanruilst o_siter QT Ty w Freysefer ypu Osr@Liy?

(o) suflsns () usvydamn (@) oLt (7) QueaTQumrmsr
Which is the entire collection of related data in one table?

(A) tuple (B) attribute (C) table (D) software

P ITYSHSMH WPhHewHw commit Blened auenT FQLR&H@w uflauiggsener
SLQUuTC® Qury (TCL):

(-9¢) Commit (=4) SavePoint (@) Insert (=) Rollback
The TCL command used to restores the database to the last commit state:
(A) Commit (B) SavePoint (C) Insert (D) Rollback

DuGsTer Caray yopowsalst sellsgiunrer umLilhars Gsrinlsper
FnsG Yson:

(o) W (=) X (@) b (%) a
The python file mode opens a file for exclusive creation:
(A) w (B) x (C)b (D) a

Usitsu@ib souggrer plrsd Gsridler sflwrear Quuwi ergy)?

(=1) pycpp-py (=4) Pycpp.cpp (@) pycpp.c (%) pycpp.js
Which of the following is the valid Python program file name?
(A) pycpp.py (B) pycpp.cpp (C) pycpp.c (D) pycpp.js

STYSHTH I NISTOT SYMTSFI Sreyseveryyd Qumls vwssTu@i SQL FnHm):

() SELECT (=) CREATE (@) DISTINCT (=) ORDER BY
The statement in SQL is used to retrieve data from a table in a database:
(A) SELECT (B) CREATE (C) DISTINCT (D) ORDER BY
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15, adrannmih ar gt Matplotib s ANO0@RHpedlerr auens svsV7?
(l"*) Pl:"“h';l“gl l'II"t]ll 1] ‘.II (.%) ﬂ'l...l_. G}JGDU'LIL_L'D

(@) @en' g ssmarn b (+) SQLite
Which of the following is not a type of visualization under matplotlib?
(A) Histogram (B) Pio chart (C) Box plot (D) SQLite

L@ = 11/ PART = I
oflent welldbm,  oflgrr  erenr 246§ SLLTWIOTS

6x2=12

a@mennt  opmt @leann a3
aflemt wiald sy,
Answer any six quostions. Question No. 24 is compulsory.

16, @i gpaid whpid Qrudu@hgine Gaupur® sTEHTEUT?
What is the difference between interface and implementation?

17. @i daiiui. enenyelwsdeney 616 pmeD 6T6T6T ?

What is enclosed scope?

18.  ewuggrefler Apinflwdyser wirenen?

What are the key features of Python?

19.  enugmreflsr LOGaup ClFwbanpi QFwgyiHLH 66T auenEHSeT wreneu?

What are the different types of function arguments in Python?

20. swapcase( ) ereTpmev eTeiTar TaTUMS PO TOSGIHSTL (L6 TSI

What is swapcase( )? Write with an example.

21.  SQLitesy @ HreYSeTHDS o_HAUTEGID PUSSTET BIred GETDD 6TLPSIS-
Write a Python code to create a database in SQLite.

22,  DBMSeir flewpssir wreneu?
What are the advantages of DBMS?

23.  CSV @sriiy ereipred eTeienr?
What is CSV file?

24,  eimeu(nin epLGBTET [BITedlss Qeueluf @ ersirse?
What will be the output of the following snippet?
set_ A={A' 2,4,'D%
set_ B = {'A','B', 'C', 'D"}
print(set_A & set_B)
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ugd =l / PART - lI

aGaeie oo allomdaende ol welldsn, ol ey 33d@ el _nunons

aflen_weafldsa)b, 6x3=18
Answer any six questions. Question No. 33 is compulsory.
25. &6 whHmh Quevdi Faeir oredtni e e16316317? 1

What are constructors and selectors?

26. @) sullewa winda, @mpilgpemmdan e Grinedld @aflapenm spesrenm 61(1pgHIs.
Write a pseudo code for bubble sort algorithm.

27.  ewuggrefs input( ) Lpasl Apy@nliin spedremm 6115,
Write a short note on input( ) in Python.

28.  ewugsrefsr if...elif...else gampledr Gl rLiMlewev 6T(1ps5.
Write the syntax of if...elif...else statement in Python.

29,

SULL. QUEDTLILID 6TeImIrsd s16dren? wuUGHTafls) aIl L. uenruLGHemg eTeuaITmi
2-GaUrSEGUTL? TBBMID SO TOSHEHTLD S5,
What is pie chart? How will you create pie chart in Python? Give an example.

30.  ewuggmer Public wmmiio Private S8 2_MILILSET wWreneu?

What is a Public and Private data member in Python?

31.  SQLesr DELETE, TRUNCATE wphmiio DROP &1 L_snerseflsir Liwsst sreiresr?
What is the use of DELETE, TRUNCATE and DROP commands in SQL?

32. C+t4@ Cuesvrer enuggrafler LT & pIs6T wrene?
What are the features of Python over C++?

33.  orpms HIMLTEGED LpY QTS wHDID TEGSIEST G s Api@piy
6T(LDSIS.

Write a short note on string slicing with syntax and example.

ugg — IV / PART - IV
mears gl aflearTssEnsE allenL_weaflsseaLb. 5x5=25
Answer all the questions.
4. Apuperpuiler ase Ly aflardEs.
Explain about Complexity of an algorithm.
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(yevevg / OR)
swuGSTET aflenasaflst amasamer allard@d.

Explain about the types of tokens in Python.

OUSSTENGST L& EGH6T aIMHHET wirewal? sTGHMID P T dhhIhDBI (Bl 6hr
aflord s,
What are the different types of loops in Python? Explain with an example.
(sLsVGI / OR)
uGSTET LY aIeHTElWeNaVSHET wirsmen?

What are the scopes of variables in Python?

Hesreumio o_sroflenanrhs o1 Gl wihHn mIsh 6L Limngl @mIiL| eemir .
(<) capitalize() (=) isalpha() (@®) isalnum( ) () lower( )

Write the short note on the following built-in string functions.
(i) capitalize( ) (i) isalpha( ) (iii) isalnum( ) (iv) lower( )

(OR)

Dictionary stesrpmsd sreirar? ogesr Gariifluied whmn List whmito Dictionaryd
@enuflsvrer GaunurBEsneru)io sTHSHI%.

What is dictionary? Write its syntax and differences between list and dictionary.

Qar@ssiiul L Ceuaflufisni QumiaisHE LNeTaumid Blrensy ALY AR T
Rewrite the following Python program to get the given output:
Qeusfluf® / OUTPUT:
Enter Radius: 5
The area = 78.5
The circumference = 34.10
Blyev / CODE:

Class circle( )
pi=3.14
def -—-init__ (self, radius):
self=radius
DEF area(SELF):
Return
Circle.pi + (self.radius * 2)
Def circumference(self):
Return 2*circle.pi * self.radius
r = input(“Enter radius=")
c = circle(r)
print “The Area: *, c.area( )
printf (“The circumference=", c)
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38.

(oysvsvgi / OR)
DBMSsir UeiTLddn D &6 Wrene?
What are the characteristics of DBMS?

Fra|bsmSHler LG auenswraT SLGHULTESST (constraints) wreneu?
What are the different types of constraints in Database?

(oysvsv51 / OR)
eireu(po smusgmeir Blredlsir GeusilufenL auenrs.

Draw the output for the following Python code.

import matplotlib.pyplot as plt
a=[1,23]

b =[5,7,4]

x=[1,2,3]

y =[10,14,12]

plt.plot(a,b, label="Lable 1')
plt.plot(x,y, label='Lable 2")
plt.xlabel("X-Axis")
plt.ylabel("Y-Axis')
plt.legend()

plt.show()

ded ik
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wrdfl afleTTTeT = 4 / Model Question Paper - 4 element .

GusvBlensy @)reimLmid e
HIGHER SECONDARY - SECOND YEAR
PART - llI
senflaf syplaflws / COMPUTER SCIENCE
(518 HDID D BISe suyfl / Tamil and English Version)
(New Syllabus)

[srev oyemrey: 2.30 el Gmrir]

[Time Allowed: 2.30 Hours] [Maximum Marks: 70]

ofleyeoraer: (1)  Sy@arss afleTrdsepl FlwTs ugleurd] 2 6TeTTS 6TEFTLIS SV &
FluTTgles GlBTeTaTayLb. SjFsLILglalls @mpuﬂ@ﬂlﬁsﬁT. 3|V

seimsTanflurarfiib o_Largwrss Gpfalssea|b.

(2) pewd g BBUY wulmar WL GG 6T(LPSIUSD (S0,
935CaTyHaugsn@n LweTUhSS GeushT(HD. LLBIFET QUHTUSDS
QuesTH sV LwesTURSSHeLD.

Instructions: (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

u@# -1/ PART - |

GolLy: () oersg aleTrssEnsEw aflen L wefl&saLb. 15%x1=15

(i) Gar@ssiul_Bster  LWTODI aflepLsaflsd  UWasayb  ephyHLW
aflsvLevwg GsTHOs05515 GPIUTL B LT allenL_ullenssruyb GFrsH sl
6TULS 6 LD.

Note: (i)  All questions are compulsory.

(i) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

1. Qrwphamplev Hr6y ums GUlUL B Curg), UeTaumd eThS SELLILYSGD

&L LTwwr@h?

(=) ) (a) () @] (w) <>

Which of the following are mandatory to write the type annotations in the function
definition?

(A) {} (B) () (€[] (D)<=
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B\ wHIYEMET PSTDTH HLLeDWwHBHE Geueurn) 555006 0.

(o) Pair (o) Triplet (@) single (=) quadrat
Bundling two values together into one can be considered as
(A) Pair (B) Triplet (C) single (D) quadrat

@3 CpPypenpuller Gar L' 6 Qs WA M LFHIUTIIN B FHD.
(1) epbengmur wHinT@ (Priori estimates)
(o) benmur Gangmenen (Posteriori testing)

(@) @ darrendl (Space factor) (#) GprésTrsnd (Time factor)

This is a theoretical performance analysis of an algorithm:

(A) Priori estimates (B) Posteriori testing
(C) Space factor (D) Time factor

UledTeu(min 61h54 Fn DM VNS Fn DM HET HUDTETSH)?

(1) ougsrer om GQurs vweTturl @ CurfwurEn. @z HPalwsd wHpIL

BN Dyewrs Areorsss hen LLSTUGSSOTL.
(2) 6D LI T 651 P GDIOI L Bw&Hs (pEPDEDMW FTTTSH GQwrif]

mm Wondershare
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=y

(3) DUGSHTETl60 6T1pdHH L L Blrevsenst Uy lugID, YTz 6 sTsraug)in $ig6LL.

(9)) anpmi 1 100 Gis

(B) sapmy 1 wpmuio 2
(@) ondpu 3 wi_Bid

(%) Syewexdg) n hmISEHLD
Which of the following statement(s) is not correct?

(1 Python is a general purpose programming language which can be used for both

scientific and non-scientific programming.
(2) Python is a platform independent programming language.
(3) The programs written in Python are difficult to read and understand.
(A) Statement (1) Only (B) Statement (1) and (2)
(C) Statement (3) Only (D) All statements

QuTmdHaIs:

(a) if...elif - (i) sreusv (Jump)
(b) while - (i) @sr4 (Block)
(c) pass -

(iii) & (Loop)

(iv) Aemsriilfiy (Branching)
(<2) (@)-(0), (b)-(iii), (c)~(iv), (d)-(ii)
() (a)-(1), (b)-(iv), (c)~(ii), (d)~(iii)

(d) indentation
(=1) (@)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
(@) (a)-(iv), (b)-(i), (c)-(iii), (d)-(ii)
Match the following:

(a) if...elif - (i) Jump
(b) while - (ii) Block
(c) pass - (iii) Loop
(d) indentation - (iv) Branching

(A) (@)-(iv), (b)-(iti), (©)-(i), (d)-ii)

(B) (@)-(1), (b)-(iii), (c)-(iv), (d)-(ii)
(C) (@)-(v), (b)-(i), (c)~(iii), (d)-(ii)

(D) (a)-(i), (b)-(iv), (©)-(ii), (d)~(iii)
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10.

11.

12.
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L] elemen
Amiy Qerpaerdm wry) HETYHHHET sTeiuTY EDYPSSLILEID.

(=) Sets (.94) List (@) Tuples (=) Dictionary
Non-keyword variable arguments are called as
(A) Sets (B) List (C) Tuples (D) Dictionary

eranmin erhn H0ul® format( ) Qewpnaapsd @ Hriflwrs oG Yedglsr
aduTe s vwstuBAmns?
(o) () (o) <> (@) ++ () A

Which of the following is used as placeholders or replacement fields which get
replaced along with format( ) function?

(A){} (B) <> (C) ++ (D)

sihp QFwmHan i 69 us5Tes0 QBT TF I FHemer 2_(HauTeHH U umsﬁru@aﬂm@?
(.9y) series( ) (94) range( ) (@) list( ) (=) tuple()

Which Function is used to generate a series of values in Python?

(A) series( ) (B) range( ) (C) list( ) (D) tuple()

()15 31T U TWMIESIUBD QFWDHIAD) ......... sTeTMI JMPLILGHEDS).

(c91) L1630 mis6it (2y,) oyemLymsHeT (@) Qawepymysst () sutflapenmassir
The function defined inside a classis called as ..........

(A) Attribute (C) Parameter (D) Arguments (D) Methods
sThdh QUGS 2_MeLpenm LigKlensy wrdlflenw euypniGalng?

(<o) peimiL_eiT et (24) peTDIL 6T LISV

(@) uewaiHmiL_eT PesTMm) (F) LIsVEUDHMIL_63T LIV

What type of relationship does hierarchical model represents?

(A) one-to-one (B) one-to-many

(B) many-to-one (D) many-to-many

SQL &1 _swer ‘Truncate’ sths auens &L Lener

(97) DDL (c25) DML (@) TCL (=) DAL
The SQL command ‘Truncate’ comes under:
(A) DDL (B) DML (C) TCL (D) DQL

csv.register_dialect() Qswmammled, Ulsteumd eHs  Cewgumy — Caummi
@snL_Qeuaflsnw Fohats LweaTuhSIng?

(.21} removespace (<24) skipinitialspace

(@) skipspace (/) removeinitialspace
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In csv.register_dialect(), Which of the following parameter is used for removing

whitespaces?
(A) removespace (B) skipinitialspace
(C) skipspace (D) removeinitialspace
: . PR, sTeTug SHBUTDFW Fa HIBlEVVDULI wHNT®H Qo sy o_srafleneniibsh
(T I TREATN
(9) _name__ (<) __main_ (@) _mode__  (w) _init__
............ is a built-in variable which evaluates to the name of the current module.
(A) _name__ (B) _main__ (C) _mode__ (D) __init__
4. ez sraygsar uaseilst fz Qrwstul () sreysoar @Gl PO
SLOOUTL®H eIy oy Eio.
(o) fetch (o) fetchall (@) cursor (/) key
Which is a control structure used to traverse and fetch the records of the database?
(A) fetch (B) fetchall (C) cursor (D) key
1 - - T usnTallLb reysmer Lsaraflsafler OsT@LuUTS ST (HEDSI.
(o) sul (o) W@ (@) Quiig (FF) suL
........... plot is a type of plot that shows the data as a collection of points.
(A) Line (B) Scatter (C) Box (D) Pie
ugd - I/ PART - Il

gGasen  Hm alarTésersE aloLwellss. allorm  aew  246@ sSLLTWOTS
aflen L werfldsHeyid. 6x2=12
Answer any six questions. Question No. 24 is compulsory.

16. Namespace srssimmev s16316T?
What do you mean by Namespace?

17. euggraisd allDansussT TETDTE sTaiTeT?
What are tokens in Python?

18.  spussreflsr while wsalst QsrLfluse eTwgis.
Write the syntax of while loop in Python.

19.  Qar@éstiul_Hsrer duSSTET BlFedlsT allardsiiLSmg aamrs.
import matplotlib.pyplot as plt
plt.plot([1,2,3,4], [1,4,9,16])
plt.show()
Draw the chart for the given Python snippet.
import matplotlib.pyplot as plt
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plt.plot([1,2,3,4], [1,4,9,16))

|
|
|

plt.show()

20. eougsrer  @Qerrud)  aurQuieme  Aplys  Gereedlsar  Fgliuen
allBlupenmaafled sTGHeD @) Tevdrent . TG!S,
Write any two basic rules of global scope keyword in Python.

21. evugsreflsd set srarmmsd sresrenr?
What is set in Python?

22.  SQLewr groys s @rurt® Quwrflés (DCL) s L_snarasr wireneu?
What are DCL commands in SQL?

23.  Scripting Quoryflsefsr LwsTUTG BT 6T1HSIS.
Write the applications of scripting languages.

24.  dlssreumid swuggrer Blredlsr Qeusfluf® srsires?
str1="THOLKAPPIYAM"

print(str1[4:])

print(str1[4::2])

print(str1[::3])

print(str1[::-3])

What will be output of the following Python snippet?
str1="THOLKAPPIYAM"

print(str1[4:])

print(str1[4::2])

print(str1[::3])

print(str1[::-3])

uggl — Il / PART - 1li

gCGzsein Hm  allarrssensg oL weflss. el aewr 33&©¢  sLLTwnrs
M ERaT, | | 6x3=18
Answer any six questions. Question No. 33 is compulsory.
25.  epetm QFws)pLsafled) Gmmbs WHLIHLIE STemib QFWNaml PETENM 6TUYSIS.

Write a function that finds the minimum of its three arguments.
26.  sre| YHULTESSMS sTsusuTm) QFWILH S g Tl ?

How do you facilitate data abstraction?

27.  aflewsyerps CaLafsr Gurads Guilupsnmenw TSI 5.
Write the pseudo code for linear search.
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28. dAmy Py suenrs:

(o) id() (=) type() (@) chr()

Write a short note on:
(i) id( ) (i) type() (i) chr()

29. fetchone() wpmib fetchmany( ) GaupiurGaener @BlOSGs.
Mention the difference between fetchone( ) and fetchmany( ).

30.  eouppTeld) 955 wHmd ST-ow esueuTT ueTWmILILITE?
How do you define constructor and destructor in Python?
31.  DBMSs pmuw 2 paylensy Qewpur@asverts upp @Bl aienrs.
Write a short note on Unary Relational Operations of DBMS.
32.  eouggraflsy csv.write( ) Qrwpamm s sterrenr CSV Gasrlenu 2 haurssl
STEUAUTM LweTUH & ms?
How csv.write( ) function is used to create a normal CSV file in Python?
33.

Uereumio enuggrer Blrsdler Qeuaflut® steiresr?
str1 = "welcome"

str2 = "to school"
str3=str1[:3]+str2[len(str2)-1:]

print(str3)

What will be the output of the following Python program?
str1 = "welcome"

str2 = "to school"

str3=str1[:3]+str2[len(str2)-1:]

print(str3)

uggl — IV / PART = IV
gaTsg allearrasEps@ allmweaflsseayb.
Answer all the questions.

5x5=25

34. Qar@Flser sTaiTLIST wirensu? eummler uenTUWweF6T Wrenau?
What are modules? What are its characteristics?
(o)svevg / OR)
CxipesH LI auflwFwrss @pplpenmuilsir Guredld GDpepmeniu 6Tepg)s.
Write the pseudo code for selection sort algorithm.

35.  eoussrelsr while vLsmal uppl QuTGSswrer TES5IESTLHLET aflord gs.

Explain about while loop in Python with suitable example
(ysvsvgy | OR)
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37.

38.

mm Wondershare

® pDFelement
ussTeflar GQrwbhimm IeTywaEsmer CuUTHSSLTET  THSHIHHTL (B si
aflerds @ .
Explain types of function arguments in Python with suitable examples.

Nemaumid 7 QFwmhan misenst QuIrmassLwrer s1(HS51585 ML (HL6T aflend 6.
() center() () find( )

Explain the following string functions with suitable examples.

(i) center( ) (i) find( )

(oysvevg / OR)

Ulesreumib emuggrest Blredlsir Qeuafluf® stsirsr?
What will be the output of the following Python program?
N=[]
for x in range(1,11):

N.append(x)
Num=tuple(N)
print(Num)
for index, i in enumerate(N):

if(i%2==1):

del N[index]

print(N)

STeS556MH 60 LweTLHID 2 neyBlensVEaTlaT susnasseeT alleTd @ s.
Explain the types of relationships used in database.

(ysvsvg / OR)
SQLsir srey swawrEnsed Grifls sl Lsnsrasmeris upml allerd@s.
Explain about DML commands of SQL.

SQLite3sv sreumd sraysmer Grilléseayn, Smbu aTHSSa D P DUSSHTET
BlTem6Y 6TUPSIS.

Write a Python program to store and retrieve the following data in SQLite3.

sreyser FL augeusnwiiy / Database Schema:

Field Type Size Constrain
Rollno INTEGER PRIMARY KEY
Sname VARCHAR 20

Gender CHAR 1

Average DECIMAL 5,2
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Tuple-gys e-srefltiuL_Geusimgw sreyser / Data to be inserted as tuple:

Rollno Sname Gender | Average
1001 KULOTHUNGAN M 75.2
1002 KUNDAVAI F 95.6
1003 | RAJARAJAN M 80.6
1004 RAJENDRAN M 98.6
1005 | AWAI F 70.1
(oysvsvg) / OR)

mm Wondershare
H  PDFelement

aflevGLndlrmid whmid Ul auerULBGEhSEG @)L wreT Goumyur Blser

wreneu?

What are the key differences between Histogram and Bar graph?

e gk
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wrf eflerrggrst — 5 / Model Question Paper - 5

GusvBlensw @)redrL_mid 5,601
HIGHER SECONDARY - SECOND YEAR
PART - Il
sesflat] symlaflwsv / COMPUTER SCIENCE
(50 whmitb yEialev suyf / Tamil and English Version)
(New Syllabus)

[srev ojerey: 2.30 wewnfl Gririd]
[Time Allowed: 2.30 Hours] [Maximum Marks: 70]

flayenrasst. (1) ewearss allearrésephd sflwrsd ugleurdl o_eTeNTS ETEITLI 6N 5

sfAurisss Carsraraybh. FaHlLFlalsy GmpullpudlsT, s
serasTenfliiuTerfli_ib o_Larngurss Qs flalasea)n.

(2) Boob gevevg  smuy  eowullemar L HGW ST D SLD,
B35BTy Pausn@ib LWSTUDSS CausTBb. UL BIHST IDTUSDG
QuesTHsL LIweTUHSHE 6 LD.

Instructions: (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

u@# ~ 1/ PART - |

@mliLy: (i) oewarsz alarréaseps o allsnLwafilssay. 15x1=15

Note:

(i) Oar@ssuul@srer  wrHn alorsal WWaayn  sHyHLW
allerLenws Gs5ih0s0s515 GPUTLHLer alwiufaruyn GFibz
UCERITE

()  All questions are compulsory.

(i) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

Asiraumido s1hs Opmlapenp Lfbg evatiupmiseD o 5553 Barvang?

(o) Cem@sew suflemswmrdaib (o) @wnig Brseorshsh

(@) CarpesB Ly Carsv (/) @y Blrsvrdai

Which of the following algorithmic approach is similar to divide and conquer
approach?

(A) Insertion sorting (B) Dynamic programming

(C) Selection searching (D) Bubble programming
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.................. oow vwsTu®sH ADT Qawu®Fz0uL 0T, gl
() 2pemp @ewemiyl ulyud (-24) @7 e @swemiiy) ul.iguwedd -
(@) o SLVZ 2% () .5y @sosma, g @evswav
ADT can be implemented using ..........
(A) singly linked list (B) doubly linked list
(C) either Aor B (D) neither A nor B
(e it st Qa1 A Rrawranifne aBDssssTLH o? A
(o) @awapennasi (o) misnsmt Hrvomen
(@) @evdhmag (%) @3whHan~ i
Which of the following is not the example of modules?
(A) procedures (B) subroutines (C) class (D) functions.

Nt |’}l1'.1!1 ﬁﬂs‘.ﬂ' ‘Llf'”&' 5]’5}"‘]‘ 61"(5",55;‘;‘ Qlu‘j):bﬁ 6151?

(o) / (o) % (@) %% () Il |
The floor division operator in Python:
(A)/ (B) % (C) %% (D) Il
smughmrer range( ) Qs wman Pler allplu STy H:
(o) start (.94) stop (@) step () slice
The optional parameter of range( ) function in Python
(A) start (B) stop (C) step (D) slice
(Nesraumid enuphsren Blyedlsir Qensfluf® 6T63T6aT 7
c=5
def add():
c=c+5
print(c)
add()
(A) 5 (B) 10 (C) 15 (D) Newip
What will be the output of the following Python snippet?
c=5 ’
def add():
c=c+5 -
print(c)
add() : e
(A)S -.(B)10 (C) 15 : (D) Error

oy Hale Quflw er.@,e_'r,ﬂs'u sT&eVGUTETSITL aulgenen HFFL LweTUBLD eulgapl L )
STLHSI (- |

(1) %o€ (c25) %E (@) %g - (=) %n
The formatting character is used to print exponential notation in uppercase:
(A) %e (B) %E (C) %g (D) %n
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10.

1.

12.

mm Wondershare
E pDFelement
@i eoLamer Gevers, wrHpailwers whmib suflenauBSSLILILTS 2 [JITTeois

Qamm@riny e11?
(o) List (.o4) Tuple
Which is a mutable and unordered collection of elements without duplicates?

(A) List (B) Tuple (C) Set (D) Dictionary

(@) Set () Dictionary

@631 (31 9 TSTMIHOIT BV 6T6ILIGI.
(9) M @end@upemen o_mauraGse () PO DpSE W 2_(HEUTEHESHV

(@) s pflinflenw o meumd@sev (7)) pm Gumrmensr 2_(HEUTESS
The Class instantiation means:

(A) Creating a class (B) Creating a constructor

(C) Creating a Destructor (D) Creating an object
DBMSsv o_meyflensy @upassmiisgdsv projectsr plui@:

(91) 0 (o4) 11 @) N () U
The symbol of project in relational algebra of DBMS:

(A) o (B) I (C) N (D) v
QT (B HIH:

(a) DELETE : (i) DDL

(b) DROP - (i) DQL

(c) SELECT ’ (i) TCL

(d) COMMIT - (iv) DML

() a-iv, b-i, c-ii, d-iii

(«91) a-iv, b-iii, c-ii, d-i
(=) a-i, b-iii, c-iv, d-ii

(@) a-i, b-iv, c-iii, d-ii
Match the following:

(a) DELETE - (i) DDL

(b) DROP & (i) DQL

(c) SELECT - (i) TCL

(d) COMMIT - (iv) DML

(A) a-iv, b-iii, c-ii, d-i (B) a-iv, b-i, c-ii, d-iii

(C) a-i, b-iv, c-iii, d-ii (D) a-i, b-iii, c-iv, d-ii

CSV Gariismu dictionarysww uigés ........ vweTuBHEDSI.

(=21) Reader (<) DictReader (@) CSVReader (/) FileReader
To read a CSV file into a dictionary can be done by using.........

(A) Reader (B) DictReader (C) CSVReader (D) FileReader
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'Y, T c.'rs'n'rug,l .@ﬁ@pmmmm ApdAn ugHserra WNAGugmHsner Quossr@ Lim msir
uIg-eUEMLOLIL [ LILOM (LD,
(o)) Qurmsr CHrds@ Blrsvmdai (=) @wdE Hreoraso

(@) Cowdyerp Crrég Prorssn () snmifae BT 6V 1D

......... - isa s:oftware design technique to split your code into separate parts.
(A) Object Oriented Programming (B) Dynamic Programming

(C) Procedural Oriented Programming (D) Modular Programming

14, dlsirsu@id 61b5 gismamtlrey SQLed @i e uglaymenst allid@i?

(o) DISTINCT (o) HAVING (@) WHERE (+) GROUPBY

Which of the following clause avoid the duplicates in SQL?

(A) DISTINCT (B) HAVING (C) WHERE (D) GROUPBY
15.  dsireumio ethg matplotlib QFwmnamm) sull aflsndsLLL RIgSmar alenyuw

vweTu®&E mg?

(1) pie() (<) line() (@) bar() (=) plot( )

Which of the following matplotlib function is used to draw line chart?

(A) pie() (B) line( ) (C) bar() (D) plot()

ugd — Il / PART = li

gGasn Hp  arTésErse ool weflss.  efotr  aew  245@  sLTwwors
allewL_weflésai. Bx2=12
Answer any six questions. Question No. 24 is compulsory.
16.  Impure Qswmhen g sTHTHTEY 6TEdTET

What is impure function?
17.  Gurifli srermmeV eTeiTenr?

What is mapping?

18. evuggrafle vwaTLBSSLILGB D usGaum QFwm@GmlssT wreneu?
What are the different operators that can be used in Python?

19. (&) SWIG (=) MinGW afllflsuréasemg sTpsis.
Write the expansion of (i) SWIG (ii) MinGW

20. &gy 'school’ srsirugley ‘h' et sTeSgIGailer Cpiwemn wHYIb TgTwenm
EAQTL () 6TEITEUT 7
What is the positive and negative subscript value of the character ‘h’ in string
‘school'?
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21. Ustreu(mid D weonuilsr Gousfluf® sreires?
alpha=list(range(65,70))
for x in alpha:
print(chr(x), end="{t')
What will be the output of the following snippet?
alpha=list(range(65,70))
for x in alpha:

print(chr(x), end="\t')

22. Qersew sreaTnHaursssdst Osrflueme sTpsis.
Write the syntax of class instantiation.

23.  SQL wnmio MySQL Gaumyuir( sresren?
What is the difference between SQL and MySQL?

24.  gaTaTSSTERT eniED OFWhHan DISE aITbepL sTaITD) SsLds CaamBIh?
THSSISHTL(H S[HS.
How to set the limit for recursive function? Give an example.

uE& -l / PART = 1li

gGsed Hm laTréserdsE aloLwefllEs. allarmr  erawr - 335 sLLTWLOTS
aflen L weflésayLb. . ' 6x3=18
Answer any six questions. Question No. 33 is compulsory.
25. Usireumeuamsupmisv constructors wmmiio selectors stemeu sTar gewLwrerd &reisms.

(=) N1=number()

(<) accetnum(n1)

(@) displaynum(n1)

(/) eval(a/b)

(2_) x,y= makeslope(m), makeslope(n)

(eer) display()

Identify which of the followings are constructors and selectors?

(@) N1=number()

(b) accetnum(n1)

(c) displaynum(n1)

(d) eval(a/b)

(e) x,y= makeslope(m), makeslope(n)

(f) display()
26. Opplysrp uELuTiey WHMID GFwsFmear wHNT e ULCam LIy FBlepSsT
Wrensu?

What are the different phases of analysis and performance evaluation of an
algorithm?
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27.

28.

29,

30.

31.

32.

33.

mm Wondershare
H  PDFelement

Jlsirau @b augauiens éd@in eoussrer Flred geiteny 11951,

0 m m m
O OO0

o))

D
DE
rite a Python program to print the following pattern

>TTIP> S P> P>

womow
oleole
wiw)

m

wUSSTelleT @ Frdgaerer geiGeaurh TSI HEYSEID sTeusuTmy LGl evT
TEALEA0) QE&JUJI:ILJ@BQ‘[D@?

How index value allocated to each character of a string in Python?

&18| STLALLGSSO6T TE5e0I0h ApsiTn) HETENLOEEMET 6T1HSI5.
Write any three uses of data visualization.

Erieflwer QuBssme QuTrmsswLTaT Q@ THSSISSTL BT allardEs.
Explain Cartesian product with a suitable example.

write wphmib append wespenwseaflsir Gaumium() sreiresr?
What is the difference between the write mode and append mode?

dereum alaurkiseflst gupiumulld sgipaurfurs udesener Hevrul@id
MULISSTET BIT6D QTN 6T(LDSIS.

STeydHHer Gluwir » organization.db

S| Lsuemswt Quwi  : Employee

LJ 6O : Eno, EmpName, Esal, Dept

Read the following details. Based on that write a python script to display department
wise records

Database name: organization.db
Table name: Employee

Columns in the table: Eno, EmpName, Esal, Dept

while wLsemal vweTUG S BhHs WFUCUaTEmer L 1YWl @ 9Jeum mlsir
Qurss LHCUETSEmET SOTSAILH YEHBHD MUSSTET Bl PETEOD T8I
Write a simple python program with list of five marks and print the sum of all the
marks using while loop
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ugg - IV/PART - IV

DN HFH! QIS & %655 ol entwsiibnHa)b.
Answer all the questions.

34.

35.

36.

Usstarmin H7efs0 Lipasnreennemmn sedr®iliy:
letrecgecdab =
if b<>0then ged b (a mod b) else return a
(o) @awinaa et Quiuri
(o) @2 90 BTN HHTBNT  9eDH %150 BT ETHD AETTHE ]!
oy aldmin a Devm sevrHiily.
(@) Qawelmy s Quusi

(%) Qauiman Hepm Heitenes i nTBan HDIPHHIHEHTeTeT QF )b FnDDI-

(0.) mevrsmengmnGen MUY 5 515 )5 T 61T (575 5D 5V qug’r,g,;mmés@!b Fn DM

Identify in the following program
letrecgcdab :=
if b <> 0 then gcd b (a mod b) else return a
i) Name of the function
ii) Identify the statement which tells it is a recursive function
i) Name of the argument variable
iv) Statement which invoke the function recursively
v) Statement which terminates the recursion
(oysvevg / OR)
Qmmapepmuiledsr LiewdrlusedLsenar allsns @d.

Explain the characteristics of an algorithm.

oLghHTfer HeTenedhHTEaT 9D LHSI56S T EHLD CFwmHn M) &HEMET
ST(Dd 155 TL_HI_6T allend@d.
Explain recursive function in Python with an example.
(9505051 / OR)
muggraflsr find() Qewpaenm upplu GHBILL RsTEOD TUHSHIS.
Write a note on find( ) function in Python.

Aesraumid swugsrer Blredsr Qeuafluf @ stsirer?

What will be the output of the following Python program?
A={x*3 for x in range (1,6)}

B={y**2 for y in range (1,10,2)}

print(A)

print(B)

print(A|B)

print(A-B)

print(A&B)

print(AAB)
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37.

38.
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(91os051 / OR) :
DBMSeir ussmiilwesvysemer allerd@s.

Explain the characteristics of DBMS.

CSV Garifley graysemer augeusmwiiugn@ Wearupm Ceuamgw aflgperpassner
6T(LL&IS. 1
Write the rules to be followed to format the data in a CSV file.

(osvavg1 / OR)
getopt()sir @amfenev 611p%I5. CLAID, ST QFWIHLBMeTU D gl BHILLD
wglliysenaruyn aflersGs.
Write the syntax for getopt() and explain its arguments and return values

HAVING Flenent BredleT LWET CTETRT? MUSSTET BITed Peirenm qOSHISSTL LTS
B[,
What is the use of HAVING clause? Give an example python script
(ojsvsvg [ OR)
matplotlib #eiresrsv Flewruflesr LLGsumy CurssTaTHmeT AlloTs 6.
Explain the various buttons in a matplotlib window.

Jede ek
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wrHf aflssrrimrer — 6 / Model Question Paper - 6 |
Giosvmlensy @) rentimid e

HIGHER SECONDARY - SECOND YEAR
PART - llI
senflsfl oyflaflwsy / COMPUTER SCIENCE
(5101 whpid gy missw euyfl / Tamil and English Version)
(New Syllabus)

[m1ev pyamay: 2.30 wenfl Gprid]
[Time Allowed: 2.30 Hours] [Maximum Marks: 70]

oflayenrasr (1)  ooargsy alemssepn sflurst uglamd D _GTETTS 6TATUSHETEF
shluriggsd Qarsienayn. @Fsiugalld Gmpul@rilsr, I[EWM %
sevaTenitiurerdib o_Larguwras g flallésayb.

(2) Fon  evewg  smoy  ewullwer  WEGGW STWYSBINSDGLD,

936851y PushGn LusTUGRSS Cous@Lb. UL BIS6T QUMIaISD @
Queirdled LwsTUB SHSHeLD.

Instructions: (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

ugd — 1/ PART - |
GolLy: () Syewess alarrdsepsEh ol wefléEsea)n. 16x1=15
(i) Ger@ésuul @erar  wLTHDI aflsnLsaflsy sy  ghLsnLW
aflerLsows CaiHhes05515 GUUTLHLeT aflewLullewerruyio G&Figgi
5T S LD
Note: (i)  All questions are compulsory.
(i) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

1. Lssreupid 678 SeflsssTenowrer CsrLflws Qar@s)?
(o) susnent Blrsed () ClFwhanm (@) suemrwenm (/) Qp T HSH6T
Which of the following is a distinct syntactic block? |
(A) Subroutines  (B) Function (C) Definition (D) Modules
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0
deraumd e v omiiy Qurgeflar  uaGaum

IS Iugdlsvensy?
(<) Tuples (cpp) Lists (@) Classes (=) quadrats

Which of the following does not allow to name the various parts of a multi-item
object?

(A) Tuples (B) Lists (C) Classes (D) quadrats

uGSlsense Quuif

Ohh  @aaEGu ST HWO  QSTSEGWHEHMTE Wl HCW  HEmIHIm g W
o miCn e i ser stsusuTmy HEOYPLLBHEMSI?

(%) Public »_miCiLilesr i asir (<o) Protected o_muiflesriser

(®) Secured o_mitflerissir (/) Private o_mytifleriasr

The members that are accessible from within the class and are also available to its
sub-classes is called

(A) Public members (B) Protected members

(C) Secured members (D) Private members

Quidlw senflgafwerert Abu Ja'far Mohammed ibn-i Musa al Khowarizmi-esr
2_(HEOUTET UTTHENS 6TOUTN JOYPSEILBHDGI?
() Flowchart (=) Flow (@) Algorithm (/) Syntax

The word comes from the name of a Persian mathematician Abu Ja'far Mohammed
ibn-i Musa al Khowarizmi is called?

(A) Flowchart (B) Flow (C) Algorithm (D) Syntax

dereumio  s1hs  @Plym oussTer  Blrsefll @oluysrasr supkiGasn s
vweTu®SS0uBSIDS?

(<o) # () & @) @ () $
Which of the following character is used to give comments in Python Program?
(A) # (B) & €)@ D) $
LieiTeumeuareuHmIsT 6781 jUMP HAmiiyd ClFrsd Hevew?

(1) pass (<) continue (@) skip (=) break
Which of the following is not a jump keyword?

(A) pass (B) continue (C) skip (D) break
LesreumausTaINIT 678 GlFevelBLsT auens jsven?

(9)) GaswauliLBd ClFwsmy (<) sresenioey Gawsimy
(@) Amiiys Cered Clewgimy () Blemev Bem QFweimy
Which of the following is not an argument type?

(A) Required arguments (B) Default arguments

(C) Keyword arguments (D) Fixed length arguments
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10.

11

12.

13.

Nesraumio Breder Qeuafluf® steiter?
str1="COMPUTER"
print(str1[::2])

(=) ER (.9) CO

str1="COMPUTER"
print(stri[::2])
(A) ER " (B)CO

mm Wondershare
® pDFelement

(@) OPTR (+) CMUE
What will be the output of the following snippet?

(C) OPTR (D) CMUE

£Cy Dar®hsiiu’_Bsiven List-sv s1hmemer o miliyser o grement?

MyList=[78,91,34,(32,61,85],65]

(o) 3 () 4

(A) 3 (B) 4

(@) 5 () 7
How many elements are in the list given below?
MyList=[78,91,34,[32,61,85],65]

(C)5 (D) 7

(Nesraumid s1hs @erdEap plaliy sflwrerg?
(.9) Class class_name<>

() class class_name[ ]

(.91) class class_name
(@) class class_name:

Which of the following class declaration is correct?
(B) class class_name<>

(D) class class_name[ ]

(A) class class_name
(C) class class_name:

HreybsesHe em tuple ... eTer YewYHHLILH S DS

(o) _Lsusment (o) auflens (@) usrydanm () yevid
A tuple is also known as .......... In database. _

(A) table (B) row (C) attribute (D) field
Qurmpsrs peteon Coipelsh:

() CREATE (<) UPDATE (@) ALTER (=) DROP
Pick odd one:

(A) CREATE (B) UPDATE (C) ALTER (D) DROP

__name__ sT&emeiré Qs re®sireng?
(&) C++ Gamiyl Guwi

(@) ewuggrer Gariyl GuwT
What does __name__ contains?

(A) C++ filename

(C) Python filename
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14.

15.

UsiTauBid 6181 HETEDI L LU 6T Yo paaliuBFmg?
() sqlite_master (.p) sql_master (@) main_master () master_main
Which of the following is called the master table?

(A) sqlite_master  (B) sql_master (C) main_master (D) master_main

suf) auenTLIL 1D DV B auf! ellendnliue HH0605emer T M) H(EMLPSHELIIBHID
H1ey Lysielmetfler Glpri e Bmi GamiligsL @enentiiugmer apsoid s BHm).

(®)) @i esrmen (o) 1ysrafl e

(@) o’ 1_muasin () Gmr@®aer

In Line Chart or Line Graph displays information as a series of data points
called
(A) Markers (B) Points (C) Dots (D) Lines

ug# — Il / PART - Il

ICpamin  gym  alermasensEe aloLwsiss. allarm  aedr 244G SLLTWWLTS
mﬂml_luslﬂé,am“h, 6x2=12

Answer any six questions. Question No. 24 is compulsory.

16.

17,

18.

19.

20.

21.

22.

23.

24.

wugsTefls) waTu@HSLIUED LLGan QFwhHGTSsT WTene?
What are the different operators that can be used in Python?

®LGHTNT B HUUr’_(Hé gnmisemer L iguwedl(Hs.
List the control structures in Python.

HITNDIHHTEAT D& OFWwHan 1) 9j1gLILDL BILHSEHET 6TETMTEV 6TEITEST ¢
What is base condition in recursive function?

Pip erstrmmev ertren?

What is Pip?

UGS TV 2 _6irer QHTGHLILS STaflaTnissT wreneu?
What are the collection data types available in Python?

& TEITMI(H6UTEHEHED STETMHTED 6T 7

What is instantiation?

Unique wmpmyo Primary Key s (Qur® Gesumiii(das.
Differentiate Unique and Primary Key constraint.

6T GETV6V 6TEITMTEY 6TEITEI 7
What is Excel?

FrEHMS SIMTLTEGHSD ClFweourigsr LT aulgau5605 6T(LPSHIS.
Write the general format of slicing operation?
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mm Wondershare
ugg -l / PART -l ® PDFelement

aGsap o alerTesEnd S aflenwefés. aflarm  eTewr 3355 sLLTWLTS
6x3=18

allemi wafldasai.

Answer any six questions. Question No. 33 is compulsory.
25.  Pure wpmid Impure @ wipan pisenen GeaupiuGbsis:
Differentiate Pure and Impure functions.

26.  eflewi’ areaImme cTadTe? 67631 6BleTVL. PAIrS 61637 M) a{myéﬁﬂu@fﬂ!ﬂ@l?
What is a List? Why List can be called as Pairs?

27. yugsenrallul auenrElwslensusn §(h B HgIEHTL BT UEDTUDI.
Define Global scope with an example.

28.  Uetaumin ga Hplsir sn miblensy, QFwpn@GH HmILD ateprwenruileT QUILET &TesT.

Identify the module, operator, definition name for the following
welcome.display( )

29.  evuggrefer &r QewhHurl @ QewupGplsamerd up GO 6T(RSI5.
Write a note on string formatting operators of Python.

30.  Wsreugio tuple gyflalliienu o HmIGHTSES.
>>> Mytuple=tuple([x**2 for x in range(2,11,2)])
Aeiraugsto Qeusfluft B s ppisafler Gaisflui@ sreirer?
() >>> print(Mytuple[2:3])
(a4) >>> print(Mytuple{3:)
(@) >>> print(Mytuple[:])
Consider the following' tuple declaration:
>>> Mytuple=tuple([x**2 for x in range(2,11,2)])
What will be the output of the following print statements?
() >>> print(Mytuple[2:3])
iy =>>> print(Mytuple[3:])
(i)  >>> print(Mytuple[:])

31.  srayssem slL LMY afleurfl.
Describe the database structure.

32. 9@ OpPympuilsr @uss Crrsms HenTé ) HouSHESTET &rrenflser wirensu?
What are the factors that measure the execution time of an algorithm?
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mm Wondershare
. 5 . . . . []
ddTaii $aaIOsT GLUMLuTs Qurai® ufammar Enosr oy

@@ auflensulsd D FA B dUGSTET BreL Geitenm 61O HI 5.
gsm;ﬁﬁﬂfﬁ'é’?‘h Quwr . organization.db
ﬂL;L_mmﬁﬂ“nﬁi' @uuwi : Employee

: Eno, EmpName, Esal, Dept

33.

DL QUSTENT L{6U BRI 6T
Read the following details. Based on that write a python script to display records in

descending order of Eno
Database name: organization.db

Table name: Employee
Columns in the table: Eno, EmpName, Esal, Dept

ugd — IV / PART - IV
D631 Gy %) ANGITT &% EThd % allen_wefldseyi.
Answer all the questions.
34.  Qapr@gsaiar (Modules) usimilwsvyssr wrsnesu?

What are the Characteristics of Modules?
(sysvsvg / OR)

@lag euflewswrss Oplypenmenw 1065155 TL B LT aflarda@a.
Explain the Bubble sort algorithm with example.

5x5=25

35. enuggreflgister sras s pnisearts unpl alflaurs aflardgs.
Explain briefly about jump statements in Python.
(oysvsvg / OR)
Usitaumid o_sreflenempg QF whHam pisener aflerds@s.
(o) id() () chr() (@) round() () type() (2_) pow()

Explain the following built-in functions.
(i) id() (i) chr() (i) round()  (iv) type() (v) pow()

36. armuseer FIMTLTEGSE LHMID CPSTHTLD Sy&TL|(HayL 65T SITL_T(HgH60 LH)
aflerd @ s. :
Explain about slicing and slicing with stride.
(ojsvsvg / OR)
2@ sflevi (List)-sb 2_sirar 2_miliysenar stsuaurmy ojem)@euriis?
How would you access elements of a list?

37. DBMSsir sn misener aflens s,
Explain the components of DBMS.
(9svev5 / OR)
g7 susnrwenm Glory (DDL) Qewmnur@assr wreneu?
What are the functions performed by DDL?
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38.

SQL-er @ sritsemert um @GN 6TUpS15.

Write a note on aggregate functions of SQL.
(oysvevgi / OR)

Matplotlibsd 1wsst @ Hst®in pyplotsaflsst ausnamener aflord s,
Explain about the types of pyplots using in Matplotlib.
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